GENERALIZATION OF SOME INEQUALITIES FOR THE POLAR DERIVATIVE OF POLYNOMIALS WITH RESTRICTED ZEROS

E. KHOJASTEHNEZHAD¹, M. BIDKHAM¹, §

ABSTRACT. If p(z) is a polynomial of degree n, then Govil [N. K. Govil, Some inequalities for derivative of polynomials, J. Approx. Theory, **66** (1991) 29-35.] proved that if p(z) has all its zeros in $|z| \le k$, $(k \ge 1)$, then

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k^n} \left\{ \max_{|z|=1} |p(z)| + \min_{|z|=k} |p(z)| \right\}.$$

In this article, we obtain a generalization of above inequality for the polar derivative of a polynomial. Also we extend some inequalities for a polynomial of the form p(z)

$$z^{s}\left(a_{0}+\sum_{\nu=t}^{n-s}a_{\nu}z^{\nu}\right),\ t\geq1,\ 0\leq s\leq n-1,$$
 which having no zeros in $|z|< k,\ k\geq1$ except s-fold zeros at the origin.

Keywords: Polynomial, Inequality, Maximum modulus, Polar Derivative, Restricted Zeros.

AMS Subject Classification: 30A10, 30C10

1. Introduction

Let p(z) be a polynomial of degree n, then according to Bernstein's inequality on the derivative of a polynomial, we have

$$\max_{|z|=1} |p'(z)| \le n \max_{|z|=1} |p(z)|, \tag{1}$$

equality holds in (1) if p(z) has all its zeros at the origin.

The inequality (1) can be sharpened, if we restrict ourselves to the class of polynomials having no zeros in |z| < 1, in fact, P. Erdös conjectured and later Lax [10] proved that if $p(z) \neq 0$ in |z| < 1, then (1) can be replaced by

$$\max_{|z|=1} |p'(z)| \le \frac{n}{2} \max_{|z|=1} |p(z)|. \tag{2}$$

The result is best possible and equality holds in (2) for a polynomial which has all its zeros on |z| = 1.

¹ Department of Mathematics, University of Semnan, Iran. e-mail: khojastehnejadelahe@gmail.com; ORCID: https://orcid.org/0000-0003-3020-3223. e-mail: mdbidkham@gmail.com; ORCID: https://orcid.org/0000-0002-3048-3635.

[§] Manuscript received: May 7, 2017; accepted: September 11, 2017.

TWMS Journal of Applied and Engineering Mathematics, Vol.9, No.3 © Işık University, Department of Mathematics, 2019; all rights reserved.

If the polynomial p(z) has all its zeros in $|z| \leq 1$, then it was proved by Turán [13] that

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{2} \max_{|z|=1} |p(z)|, \tag{3}$$

with equality for those polynomials, which have all their zeros on |z|=1.

For a polynomial p(z) of degree n which having no zeros in $|z| < k, k \ge 1$, inequality (2) was generalized by Malik [11] who proved that

$$\max_{|z|=1} |p'(z)| \le \frac{n}{1+k} \max_{|z|=1} |p(z)|. \tag{4}$$

The inequality (4) is sharp and equality holds for $p(z) = (z+k)^n$.

As a generalization of (4), Aziz and Shah [2] proved that if p(z) has no zero in $|z| < k, k \ge 1$, except s-fold zeros at the origin, then

$$\max_{|z|=1} |p'(z)| \le \frac{n+ks}{1+k} \max_{|z|=1} |p(z)|.$$
 (5)

If the polynomial p(z) has all its zeros in $|z| \leq k, k \geq 1$, then it was proved by Govil [9] that

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k^n} \left\{ \max_{|z|=1} |p(z)| + \min_{|z|=k} |p(z)| \right\}.$$
 (6)

The result is best possible and equality holds in (6) for $p(z) = z^n + k^n$. Gardner et al. [8] proved that if the polynomial $p(z) = a_0 + \sum_{\nu=t}^n a_{\nu} z^{\nu}$, having no zeros in $|z| < k, \ k \ge 1$, then

$$\max_{|z|=1} |p'(z)| \le \frac{n}{1+s_0} \left\{ \max_{|z|=1} |p(z)| - \min_{|z|=k} |p(z)| \right\},\tag{7}$$

where $s_0 = k^{t+1} \left\{ \frac{\left(\frac{t}{n}\right)\frac{|a_t|}{|a_0|-m}k^{t-1}+1}{\left(\frac{t}{n}\right)\frac{|a_t|}{|a_0|-m}k^{t+1}+1} \right\}.$

Let α be a complex number. For a polynomial p(z) of degree n, $D_{\alpha}p(z)$, the polar derivative of p(z) is defined [12] as

$$D_{\alpha}p(z) = np(z) + (\alpha - z)p'(z).$$

It is easy to see that

$$\lim_{|\alpha| \to \infty} \left[\frac{D_{\alpha} p(z)}{\alpha} \right] = p'(z).$$

In order to extend inequality (6) for the polar derivative, Aziz and Rather[1] proved that if p(z) is a polynomial of degree n having all its zeros in $|z| \leq k$ where $k \geq 1$, then for every real or complex number α with $|\alpha| \ge k$,

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n(|\alpha| - k)}{1 + k^n} \max_{|z|=1} |p(z)|.$$
(8)

As a refinement and generalization of inequality (8), Dewan et al. [7], proved that if p(z) is a polynomial of degree n, which has all its zeros in $|z| \leq k$, where $k \geq 1$, with s-fold zeros at the origin, where $0 \le s \le n$, then for every real or complex number α with $|\alpha| \ge k$

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n}{1+k^{n-s}} \left\{ (|\alpha|-k) \max_{|z|=1} |p(z)| + (\frac{|\alpha|}{k^s} + \frac{1}{k^{n-1}}) \min_{|z|=k} |p(z)| \right\}. \tag{9}$$

Also inequality (7) extended by Dewan et al. [6] for the polar derivative of a polynomial. They proved that if $p(z) = a_0 + \sum_{\nu=t}^{n} a_{\nu} z^{\nu}$, is a polynomial of degree n which does not vanish in $|z| < k, \ k \ge 1$, then for $|\alpha| \ge 1$

$$\max_{|z|=1} |D_{\alpha}p(z)| \le \frac{n}{1+s_0} \left\{ (|\alpha|+s_0) \max_{|z|=1} |p(z)| - (|\alpha|-1) \min_{|z|=k} |p(z)| \right\},\tag{10}$$

where s_0 is as defined in (7).

The following result, propose a refinement to inequality (9). In a precise set up, we have **Theorem 1.** Let $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$, be a polynomial of degree $n \geq 3$, which has all its zeros in $|z| \leq k$, $k \geq 1$ with s-fold zeros at the origin $(0 \leq s \leq n-3)$, then for every real or complex number α with $|\alpha| \geq k$

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n}{1+k^{n-s}} \left\{ (|\alpha|-k) \max_{|z|=1} |p(z)| + \left(\frac{|\alpha|}{k^s} + \frac{1}{k^{n-1}}\right) \min_{|z|=k} |p(z)| \right\} + \frac{1}{k^{n-1}} \left\{ \frac{2(k^{n-1}-1)}{(n+1)} |na_0 + \alpha a_1| + \left(\frac{k^{n-1}-1}{n-1} - \frac{k^{n-3}-1}{n-3}\right) |(n-1)a_1 + 2\alpha a_2| \right\} + \frac{2n(|\alpha|-k)}{k(1+k^{n-s})} \left\{ \frac{|a_{n-1}|}{(n-s+1)} \left[\frac{k^{n-s}-1}{n-s} - (k-1) \right] + \frac{|a_{n-2}|}{k} \times \left[\frac{(k^{n-s}-1) - (n-s)(k-1)}{(n-s)(n-s-1)} - \frac{(k^{n-s-2}-1) - (n-s-2)(k-1)}{(n-s-2)(n-s-3)} \right] \right\}$$
(11)

for n > 3 and

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n}{1+k^{n-s}} \left\{ (|\alpha|-k) \max_{|z|=1} |p(z)| + \left(\frac{|\alpha|}{k^s} + \frac{1}{k^{n-1}}\right) \min_{|z|=k} |p(z)| \right\} + \\
+ \frac{k-1}{2k^{n-1}} \left\{ (k+1)|na_0 + \alpha a_1| + (k-1)|(n-1)a_1 + 2\alpha a_2| \right\} \\
+ \frac{2n(|\alpha|-k)}{k(1+k^{n-s})} \left\{ \frac{|a_{n-1}|}{(n-s+1)} \left[\frac{k^{n-s}-1}{n-s} - (k-1) \right] + \frac{|a_{n-2}|(k-1)^{n-s}}{k(n-s)(n-s-1)} \right\}.$$
(12)

for n=3.

Dividing both sides of the inequalities (11) and (12) by $|\alpha|$ and letting $|\alpha| \to \infty$, we have the following refinement of the inequality (6).

Corollary 1.1. If $p(z) = \sum_{\nu=0}^{n} a_{\nu} z^{\nu}$ is a polynomial of degree n, having all its zeros in $|z| \le k$, $k \ge 1$ with s-fold zeros at the origin, then

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k^{n-s}} \left\{ \max_{|z|=1} |p(z)| + \frac{1}{k^s} \min_{|z|=k} |p(z)| \right\} + \frac{2}{k^{n-1}} \left\{ \frac{(k^{n-1}-1)|a_1|}{n+1} + \left(\frac{k^{n-1}-1}{n-1} - \frac{k^{n-3}-1}{n-3}\right) |a_2| \right\} + \frac{n}{1+k^{n-s}} \left\{ \frac{4k^{n-1}|a_{n-1}|}{(n-s+1)} \left[\frac{k^{n-s}-1}{n-s} - (k-1) \right] + \frac{4k^{n-2}|a_{n-2}|}{2k^n} \times \left[\frac{(k^{n-s}-1) - (n-s)(k-1)}{(n-s)(n-s-1)} - \frac{(k^{n-s-2}-1) - (n-s-2)(k-1)}{(n-s-2)(n-s-3)} \right] \right\}$$
(13)

for n > 3 and

$$\max_{|z|=1} |p'(z)| \ge \frac{n}{1+k^{n-s}} \left\{ \max_{|z|=1} |p(z)| + \frac{1}{k^s} \min_{|z|=k} |p(z)| \right\} + \frac{k-1}{2k^{n-1}} \{ (k+1)|a_1| + 2(k-1)|a_2| \} + \frac{2n}{k(1+k^{n-s})} \left\{ \frac{|a_{n-1}|}{(n-s+1)} \left[\frac{k^{n-s}-1}{n-s} - (k-1) \right] + \frac{|a_{n-2}|(k-1)^{n-s}}{k(n-s)(n-s-1)} \right\}.$$
(14)

for n=3.

Next we consider a polynomial of degree n, having no zeros in |z| < k, $k \ge 1$, except s-fold zeros at the origin and prove the following generalization of inequality (10).

Theorem 2. If $p(z) = z^s(a_0 + \sum_{\nu=t}^{n-s} a_{\nu} z^{\nu}), \ t \ge 1, \ 0 \le s \le n-1$ is a polynomial of degree n

having s-fold zeros at the origin and the remaining (n-s) zeros in $|z| \ge k$, $k \ge 1$, then for every α with $|\alpha| \ge 1$, we have

$$\max_{|z|=1} |D_{\alpha}p(z)| \leq \frac{n(|\alpha| + \Lambda_t) + s\Lambda_t(|\alpha| - 1)}{1 + \Lambda_t} \max_{|z|=1} |p(z)|
- \frac{(n-s)(|\alpha| - 1)}{k^s(1 + \Lambda_t)} \min_{|z|=k} |p(z)|,$$
(15)

where
$$\Lambda_t = k^{t+1} \left\{ \frac{\left(\frac{t}{n-s}\right) \frac{k^s |a_t|}{k^s |a_0| - m} k^{t-1} + 1}{\left(\frac{t}{n-s}\right) \frac{k^s |a_t|}{k^s |a_0| - m} k^{t+1} + 1} \right\}$$
, and $m = \min_{|z| = k} |p(z)|$.

Remark 1.1. Clearly for s = 0, inequality (15) reduce to inequality (10).

Dividing both side of (15) by $|\alpha|$ and let $|\alpha| \to \infty$, then we have

Corollary 1.2. If p(z) is a polynomial of degree n having no zero in |z| < k, $k \ge 1$ except s-fold zeros at the origin, then

$$\max_{|z|=1} |p'(z)| \le \frac{n + s\Lambda_t}{1 + \Lambda_t} \max_{|z|=1} |p(z)| - \frac{n - s}{k^s (1 + \Lambda_t)} \min_{|z|=k} |p(z)|, \tag{16}$$

where Λ_t is as defined in Theorem 2.

Remark 1.2. Inequality (16) is a refinement of inequality (5), since by applying Lemma 2.4 for the polynomial $p(z)/z^s$ of degree (n-s), we can conclude that $k \leq \Lambda_t$ which is equivalent to $\frac{n+s\Lambda_t}{1+\Lambda_t} \leq \frac{n+ks}{1+k}$. For s=0 the inequality (16) reduce to inequality (7).

2. Lemmas

For the proofs of these theorems, we need the following lemmas. The first lemma is due to Aziz and Rather [1].

Lemma 2.1. If p(z) is a polynomial of degree n, has all its zeros in $|z| \le 1$, then for every $|\alpha| \ge 1$,

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n}{2} \{ (|\alpha| - 1) \max_{|z|=1} |p(z)| + (|\alpha| + 1) \min_{|z|=1} |p(z)| \}$$
(17)

The following lemma is due to Dewan, Kaur and Mir [4].

Lemma 2.2. If p(z) is a polynomial of degree n, then for $R \ge 1$,

$$\max_{|z|=R} |p(z)| \le R^n \max_{|z|=1} |p(z)| - \frac{2(R^n - 1)}{n+2} |p(0)| - \left[\frac{R^n - 1}{n} - \frac{R^{n-2} - 1}{n-2} \right] |p'(0)|$$
(18)

if n > 2, and

$$\max_{|z|=R} |p(z)| \le R^n \max_{|z|=1} |p(z)| - \frac{R-1}{2} [(R+1)|p(0)| + (R-1)|p'(0)|]$$
(19)

if n=2.

The following lemma is due to Dewan, Singh and Mir [5].

Lemma 2.3. If p(z) is a polynomial of degree n, having no zeros in |z| < 1, then for $R \ge 1$,

$$\max_{|z|=R} |p(z)| \le \frac{R^n + 1}{2} \max_{|z|=1} |p(z)| - \frac{R^n - 1}{2} \min_{|z|=1} |p(z)| - \frac{2}{n+1} \left[\frac{(R^n - 1)}{n} - (R-1) \right] |p'(0)| - \left[\frac{(R^n - 1) - n(R-1)}{n(n-1)} - \frac{(R^{n-2} - 1) - (n-2)(R-1)}{(n-2)(n-3)} \right] |p''(0)| \tag{20}$$

if n > 3, and

$$\max_{|z|=R} |p(z)| \le \frac{R^n + 1}{2} \max_{|z|=1} |p(z)| - \frac{R^n - 1}{2} \min_{|z|=1} |p(z)|
- \frac{2}{n+1} \left[\frac{R^n - 1}{n} - (R-1) \right] |p'(0)|
- \frac{(R-1)^n}{n(n-1)} |p''(0)|]$$
(21)

if n=3.

The following lemma is due to Gardner, Govil and Weems [8].

Lemma 2.4. If $p(z) = a_0 + \sum_{\nu=t}^n a_{\nu} z^{\nu}$, is a polynomial of degree n having no zeros in $|z| < k, \ k \ge 1$, then

$$k^t \le s_0, \tag{22}$$

where s_0 is given in (7).

3. Proofs of the theorems

Proof of the Theorem 1. Let G(z) = p(kz). Since p(z) has all its zeros in $|z| \le k$, then G(z) has all its zeros in $|z| \le 1$. Now for α , where $|\alpha| \ge k$ and using Lemma 2.1 to the polynomial G(z), we have

$$\max_{|z|=1} |D_{\frac{\alpha}{k}}G(z)| \ge \frac{n}{2} \left\{ \left(\frac{|\alpha|}{k} - 1 \right) \max_{|z|=1} |G(z)| + \left(\frac{|\alpha|}{k} + 1 \right) \min_{|z|=1} |G(z)| \right\}. \tag{23}$$

By replacing G(z) = p(kz) in above inequality we get,

$$\max_{|z|=k} |D_{\alpha}p(z)| \ge \frac{n}{2} \left\{ \left(\frac{|\alpha|-k}{k} \right) \max_{|z|=k} |p(z)| + \left(\frac{|\alpha|+k}{k} \right) \min_{|z|=k} |p(z)| \right\}. \tag{24}$$

Now by using Lemma 2.2 for the polynomial $D_{\alpha}p(z)$, which is of degree n-1, where n-1>2, we conclude that

$$\max_{|z|=k} |D_{\alpha}p(z)| \le k^{n-1} \max_{|z|=1} |D_{\alpha}p(z)| - \frac{2(k^{n-1}-1)}{n+1} |na_0 + \alpha a_1| - \left[\frac{k^{n-1}-1}{n-1} - \frac{k^{n-3}-1}{n-3}\right] |(n-1)a_1 + 2\alpha a_2|.$$
(25)

By using R.H.S of the inequality (25) for the inequality (24), we have

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n}{2} \left\{ \left(\frac{|\alpha|-k}{k^n} \right) \max_{|z|=k} |p(z)| + \left(\frac{|\alpha|+k}{k^n} \right) \min_{|z|=k} |p(z)| \right\} + \frac{2(k^{n-1}-1)}{(n+1)k^{n-1}} |na_0 + \alpha a_1| + \frac{1}{k^{n-1}} \left[\frac{k^{n-1}-1}{n-1} - \frac{k^{n-3}-1}{n-3} \right] |(n-1)a_1 + 2\alpha a_2|.$$
(26)

Now by the hypothesis the polynomial p(z) having all zeros in $|z| \le k$, $k \ge 1$ with s-fold zeros at the origin, therefore $q(z) = z^n p(1/z)$ is a polynomial of degree (n-s) which does not vanish in |z| < 1/k, where $1/k \le 1$. By using the variable z/k instead of z, we conclude that the polynomial q(z/k) is a polynomial of degree (n-s), having no zeros in |z| < 1. Now we can use Lemma 2.3 for the polynomial q(z/k), then we have

$$\max_{|z|=k} |q(z/k)| \le \frac{k^{n-s}+1}{2} \max_{|z|=1} |q(z/k) - \frac{k^{n-s}-1}{2} \min_{|z|=1} |q(z/k)| - \frac{2|a_{n-1}|}{(n-s+1)k} \left[\frac{k^{n-s}-1}{n-s} - (k-1) \right] - \frac{2|a_{n-2}|}{k^2} \times \left\{ \frac{(k^{n-s}-1) - (n-s)(k-1)}{(n-s)(n-s-1)} - \frac{(k^{n-s-2}-1) - (n-s-2)(k-1)}{(n-s-2)(n-s-3)} \right\}.$$
(27)

Since $q(z/k) = (z/k)^n p(k/z)$, therefore $\max_{|z|=k} |q(z/k)| = \max_{|z|=1} |p(z)|$, $\max_{|z|=1} |q(z/k)| = (1/k^n) \max_{|z|=k} |p(z)|$, and $\min_{|z|=1} |q(z/k)| = (1/k^n) \min_{|z|=k} |p(z)|$. By replacing these in (27), we have

$$\max_{|z|=1} |p(z)| \le \frac{k^{n-s}+1}{2k^n} \max_{|z|=k} |p(z) - \frac{k^{n-s}-1}{2k^n} \min_{|z|=k} |p(z)|
- \frac{2|a_{n-1}|}{(n-s+1)k} \left\{ \frac{k^{n-s}-1}{n-s} - (k-1) \right\} - \frac{2|a_{n-2}|}{k^2} \times \left\{ \frac{(k^{n-s}-1) - (n-s)(k-1)}{(n-s)(n-s-1)} - \frac{(k^{n-s-2}-1) - (n-s-2)(k-1)}{(n-s-2)(n-s-3)} \right\}.$$
(28)

or

$$\max_{|z|=k} |p(z)| \ge \frac{2k^n}{k^{n-s}+1} \max_{|z|=1} |p(z)| + \frac{k^{n-s}-1}{k^{n-s}+1} \min_{|z|=k} |p(z)|
+ \frac{4k^{n-1}|a_{n-1}|}{(n-s+1)(k^{n-s}+1)} \left[\frac{k^{n-s}-1}{n-s} - (k-1) \right] + \frac{4k^{n-2}|a_{n-2}|}{k^{n-s}+1} \times \left\{ \frac{(k^{n-s}-1) - (n-s)(k-1)}{(n-s)(n-s-1)} - \frac{(k^{n-s-2}-1) - (n-s-2)(k-1)}{(n-s-2)(n-s-3)} \right\}.$$
(29)

By using the inequality (29) for $\max_{|z|=k} |p(z)|$ in the inequality (26), we have

$$\max_{|z|=1} |D_{\alpha}p(z)| \ge \frac{n}{1+k^{n-s}} \left\{ (|\alpha|-k) \max_{|z|=1} |p(z)| + \left(\frac{|\alpha|}{k^s} + \frac{1}{k^{n-1}}\right) \min_{|z|=k} |p(z)| \right\} + \\
+ \frac{1}{k^{n-1}} \left\{ \frac{2(k^{n-1}-1)}{(n+1)} |na_0 + \alpha a_1| + \left(\frac{k^{n-1}-1}{n-1} - \frac{k^{n-3}-1}{n-3}\right) |(n-1)a_1 + 2\alpha a_2| \right\} . \\
+ \frac{2n(|\alpha|-k)}{k(1+k^{n-s})} \left\{ \frac{|a_{n-1}|}{(n-s+1)} \left[\frac{k^{n-s}-1}{n-s} - (k-1) \right] + \frac{|a_{n-2}|}{k} \times \right. \\
\left. \left[\frac{(k^{n-s}-1) - (n-s)(k-1)}{(n-s)(n-s-1)} - \frac{(k^{n-s-2}-1) - (n-s-2)(k-1)}{(n-s-2)(n-s-3)} \right] \right\} .$$
(30)

The inequality completes the proof of the Theorem 1 in the case n > 3. For the case n = 3, we have the similar proof as above, only it is enough to use inequalities (19) and (21) instead of inequalities (18) and (20), respectively. This completes the proof of Theorem 1.

Proof of the Theorem 2. Let $p(z) = z^s h(z)$, where $h(z) = a_0 + \sum_{\nu=t}^{n-s} a_{\nu} z^{\nu}$, is a polynomial

of degree (n-s) having no zeros in $|z| \le k$, $k \ge 1$. Applying inequality (10) to the polynomial h(z), we get

$$\max_{|z|=1} |D_{\alpha}h(z)| \le \frac{n-s}{1+s_0'} \{ (|\alpha| + s_0') \max_{|z|=1} |h(z)| - (|\alpha| - 1)m' \}, \tag{31}$$

where
$$s_0' = k^{t+1} \left\{ \frac{(\frac{t}{n-s})\frac{|a_t|}{|a_0|-m'}k^{t-1}+1}{(\frac{t}{n-s})\frac{|a_t|}{|a_0|-m'}k^{t+1}+1} \right\}$$
 and $m' = \min_{|z|=k} |h(z)|$.

On the other hand

$$D_{\alpha}p(z) = np(z) + (\alpha - z)p'(z) = nz^{s}h(z) + (\alpha - z)(sz^{s-1}h(z) + z^{s}h'(z)) = z^{s}D_{\alpha}h(z) + \alpha sz^{s-1}h(z).$$

Therefore

$$zD_{\alpha}p(z) = z^{s+1}D_{\alpha}h(z) + \alpha sp(z).$$

Hence for |z|=1, we have

$$|D_{\alpha}p(z)| \le |D_{\alpha}h(z)| + s|\alpha||p(z)|.$$

which implies

$$\max_{|z|=1} |D_{\alpha}p(z)| \le \max_{|z|=1} |D_{\alpha}h(z)| + s|\alpha| \max_{|z|=1} |p(z)|.$$

Since $\max_{|z|=1} |p(z)| = \max_{|z|=1} |h(z)|$ and $\min_{|z|=k} |h(z)| = \frac{1}{k^s} \min_{|z|=k} |p(z)|$, which on using in (31) gives

$$\max_{|z|=1} |D_{\alpha}p(z)| \leq \frac{n(|\alpha| + \Lambda_t) + s\Lambda_t(|\alpha| - 1)}{1 + \Lambda_t} \max_{|z|=1} |p(z)|
- \frac{(n - s)(|\alpha| - 1)}{k^s(1 + \Lambda_t)} \min_{|z|=k} |p(z)| \},$$
(32)

Hence the proof of Theorem 2 is complete.

Acknowledgement The authors wish to sincerely thank the referees, for the careful reading of the paper and for the helpful suggestions and comments.

References

- Aziz, A. and Rather, N. A., (1998), A refinement of a theorem of Paul Turan concerning polynomials, J. Math. Ineq. Appl., 1, pp. 231-238.
- [2] Aziz, A. and Shah, W. M. (2007), Some integral mean estimate for polynomials, Anal. Theory and Appl., 23, pp. 101-111.
- [3] Bernstein, S., (1926) Leons sur les proprits extrmales et la meilleure approximation des fonctions analytiques dune variable relle. Gauthier Villars, Paris.
- [4] Dewan, K. K., Kaur, J. and Mir, A., (2002), Inequalities for the derivative of a polynomial, J. Math. Anal. Appl., 269, pp. 489-499.
- [5] Dewan, K. K., Singh, N. and Mir, A., (2007), Growth of polynomials not vanishing inside a circle, Int. J. Math. Anal, 1, pp. 529-538.
- [6] Dewan, K. K., Singh, N. and Mir, A., (2009), Extension of some polynomial inequalities to the polar derivative, J. Math. Anal and Appl., 352, pp. 807-815.
- [7] Dewan, K. K., Ahuja, A. and Hans, S., (2010), Turán-type inequalities for polynomial with restricted zeros, J. Interdisciplinary Math., 13, pp. 217-224.
- [8] Gardner, R. B., Govil, N. K. and Weems, A., (2004), Some results concerning rate of growth of polynomials, East J. Approx. 10, pp. 301-312.
- [9] Govil, N. K., (1991), Some inequalities for derivative of polynomials, J. Approx. Theory, 66, pp. 29-35.
- [10] Lax, P. D., (1944), Proof of a conjecture of P. Erdos on the derivative of a polynomial, Bull. Amer. Math. Soc., 50, pp. 509-513.
- [11] Malik, M. A., (1969), On the derivative of a polynomial, J. London. Math. Soc., 1, pp. 57-60.
- [12] Mardan, M., (1966), Geometry of polynomials: Mathematical Surveys, vol. 3. American Mathematical Society, Rhode Island.
- [13] Turan, P., (1939), Uber die Ableitung von Polynomen, Compositio Math, 7, pp. 89-95.



Elahe Khojastehnezhad is a PhD student under the supervision of M. Bidkham at the Department of Mathematics, Semnan University, Semnan, Iran. She has published 4 research articles in international journals of mathematical and engineering sciences. Her research interest is Complex Analysis.



Mahmood Bidkham is an associated professor of Semnan University and his research interests are Complex Analysis and Approximation Theory. He has published more than 40 research papers in various international journals. He has supervised 39 master theses and 4 doctoral theses.